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H BUE | R | BaR | R | P | oma | & | P | ma | mE | R | B | @ 00RO RIRA HESE | 0~98F | 9~158F | 15~248F
[m/s] (m/s] [(Cc] | [€C] | [C] [%] [%] [%] (%] | [hPa] | [hPa] | [mm] | [mm] | [mm]
01 4.5 Jtrs 15.6 3] 10.7 16.9 3.9 66.9 97.7 39.7 64.8( 994.0( 1007.8 2.0 6.5 19.5 i & tiy
02 2.1| Jbdevs 10.5| Jtdkva 6.0 11.5 1.4 70.3 97.5 32.5 66.4( 1004.0( 1018.2 0.0 0.0 0.0 i i i
03 1.4| HALK 8.3| Fadtra 7.5 13.4 2.6 64.0 91.9 33.0 65.6( 1002.6( 1016.7 0.0 0.0 0.0 i i 5
04 2.5| Jkdkes 10.9| Jkdkes 6.6 10.6 3.4 75.3 95.2 58.3 68.5( 1003.9( 1018.0 0.0 0.0 0.0 i & £
05 1.5| dedtva 8.7| Jkdtvs 7.1 11.4 2.4 56.6 74.9 39.1 64.9( 1013.8 1028.0 0.0 0.0 0.0 5 i i
06 1.0| dedtva 5.5| Jkdkvs 9.1 10.8 7.2 87.1 97.7 64.4( 71.5( 1012.6| 1026.8 1.0 2.5 8.0 & 5] (i
07 1.8| dkdtva 9.5| Jkdtvs 10.8 12.6 9.3 96.7 97.7 88.6 79.0| 1005.4| 1019.4 1.5 4.0 19.0 i i i
08 3.1 dtdkvs 12.2| dt4kvs 11.5 14.7 7.9 67.6 97.5 441 75.5] 1006.5| 1020.4 0.0 0.5 0.0 & £ £
09 1.2| RALK 5.6| Jbdtes 10.0 17.0 4.0 65.5 95.5 31.9 72.4| 1013.3| 1027.4 0.0 0.0 0.0 i ik i
10 0.8| HILH 3.8| FadtrE 10.0 15.9 5.9 73.3 92.5 41.9 72.6| 1011.2| 1025.3 0.0 0.0 0.0 i ik &
11 1.3| ALK 7.3 b | i} 10.3 16.8 5.2 74.4 92.7 45.5 73.1| 1009.8| 1023.8 0.0 0.0 0.0 i ik i
12 1.3| #ajkeE 11.7 B i 11.2 15.7 6.7 74.1 94.7 54.1 73.4| 1003.9| 1017.7 0.0 0.0 0.0 i i i
13 3.9 b | i 14.6 b | i} 8.3 11.9 2.9 52.3 76.3 35.0 67.0] 1004.4| 1018.5 0.0 0.0 0.0 i i i
14 1.2| dtJkvs 5.1| Jkikvs 5.6 11.6 0.9 58.0 7.7 32.2 64.2( 1007.5( 1021.8 0.0 0.0 0.0 i ik i
15 1.8| HAL®K 9.6 b | i} 7.4 13.5 1.6 68.6] 86.3 47.7 65.4( 1007.7( 1021.9 0.0 0.0 0.0 i ik i
16 1.0 4L=E 5.5 vadkvs 9.0 14.4 3.4 72.9 97.7 49.4] 67.6| 1006.3| 1020.3 0.5 1.5 2.0 i ik 3]
17 3.4| vadurs 19.4| v&dtvs 8.0 12.8 1.3 84.8 98.0 43.3 72.7| 991.5( 1005.3 1.0 5.5 21.5 i & i
18 2.4 B i} 11.6 B i 2.0 6.4 -0.4 67.4| 88.3 34.7 71.1| 1002.8( 1017.1 0.0 0.0 0.0 & £ ti5
19 1.6 dkdLvy 7.2 B i 2.8 6.3 -0.1 71.4 98.0 46.9 71.1| 1003.3| 1017.6 0.0 0.0 0.0 i & i
20 1.4] HAL=E 8.0 B i 5.5 10.2 1.0 75.6 98.0 46.9 72.4| 1005.2( 1019.4 0.0 0.0 0.0 i5 i i
21 1.2] ®AL=E 5.9 B i 7.5 12.6 3.3 72.3 88.6 49.9 72.3| 1002.4| 1016.5 0.0 0.0 0.0 b5 i i}
22 2.2| Jbdkvs 11.0| JbdLvs 7.4 13.2 3.3 60.9 97.4| 34.9 68.9( 1003.2( 1017.2 0.0 0.0 0.0 i5 i i
23 1.6] HAL=E 6.9 B i 6.3 12.2 0.3 48.6 4.7 27.4| 62.7| 1008.5| 1022.7 0.0 0.0 0.0 b5 i i
24 1.0 =RAL=E 8.5| dLdLvE 8.6 14.8 2.8 62.8 97.4| 33.3 62.7( 1005.5( 1019.5 0.5 3.0 4.5 iS5 ik I35}
25 2.6| #adkvs 9.8| #adLYE 7.3 12.0 1.5 78.1 95.2 55.0 67.3 997.4( 1011.4 0.5 0.5 0.5 5 i i
26 3.6 B i} 14.0| 7ad4L7E 0.9 4.3 -1.7 69.2 95.2 45.2 67.8| 1002.4| 1016.9 0.0 0.0 0.0 & & £
27 1.7| PadLis 8.5 B i 0.0 2.1 2.1 95.5 98.0 86.6 76.1| 1005.9( 1020.4 0.0 0.0 0.0 Edf = Et
28 2.2| dkdtvs 10.4 B 2.5 7.3 -1.1 70.2 98.0 34.7 74.3| 1010.2( 1024.6 0.0 0.0 0.0 i i i
29 0.9 HALH 6.1 HALH 3.8 9.3 -1.0 65.0 84.7 45.2 71.5| 1007.8( 1022.2 0.0 0.0 0.0 = =2 =
30 2.8| vadkvs 16.3| 7adLvE 5.2 9.4 2.2 73.0 98.0 42.5 71.9] 999.0( 1013.1 0.0 0.0 0.0 £ i =
31 3.4| 7a4LvE 12.5 JLr 0.8 4.4] -2.1 84.7 98.0 53.8 75.7| 1001.7| 1016.1 0.5 1.0 1.0 Ef & £
5 2.0 #IL® 6.8 71.1 70.0( 1005.0( 1019.1
e fiE 9.9| 7EdtvE 19.4| vadLrs 17.0 98.0 79.0( 1015.9( 1030.1 2.0 6.5 21.5
R 12/3 12/17 12/09 12/31 12/07| 12/05| 12/05( 12/01| 12/01| 12/17
13:18 19:54 14:58 01:38 24:00| 19:51| 19:51( 03:10( 03:30
KA 2.1 27.4| 62.7| 987.0| 1000.5
Sl 12/31 12/23| 12/24| 12/17| 12/01
23:13 14:48| 24:00| 14:48| 04:21
HRE 76.0
H % 0 7 8
B |t Jedts | e | IR * RER | PR | MR 1 FIFPY | FAPH | VHREAE [ LT I
% 6.2 2.0 3.7 13.6 5.5 1.8 1.1 1.2 1.2 0.9 1.0 1.4 2.7 15.1 19.0 20.2 3.4




